# INTEGRAL MEANS OF UNIVALENT FUNCTIONS WITH RESTRICTED HAYMAN INDEX

# BY

### DANIEL GIRELA

Análisis Matemático, Facultad de Ciencias, Universidad de Málaga, 29071 Málaga, Spain

### ABSTRACT

Kamotskii proved that if  $f \in S$  has Hayman index  $\alpha$  then, for p = 1, 2, 3,

(1) 
$$\int_{-\pi}^{\pi} |f(re^{it})|^{p} dt \geq \int_{-\pi}^{\pi} |\alpha k(re^{it})|^{p} dt, \quad 0 < r < 1.$$

In this paper we extend Kamotskii's result. We prove that if f has Hayman index  $\alpha$  and its logarithmic coefficients  $\gamma_n$  satisfy  $|\gamma_n| \leq 1/n$  for all n, then, for 0 < r < 1,

(2) 
$$\int_{-\pi}^{\pi} \phi(\log |f(re^{it})|) dt \ge \int_{-\pi}^{\pi} \phi(\log |\alpha k(re^{it})|) dt$$

for all convex increasing functions  $\phi(x)$  defined on **R** and give examples which show that this is not true in general. Also, we prove that (1) remains true for 2 and general f and for <math>p = 4 if f has real Taylor coefficients.

# 1. Introduction

Let D denote the unit disc  $\{z : |z| < 1\}$ . For p > 0 and g analytic in D, define

$$M_{p}(r,g) = \left(\frac{1}{2\pi} \int_{-\pi}^{\pi} |g(re^{it})|^{p} dt\right)^{1/p}, \quad 0 < r < 1,$$
$$M_{\infty}(r,g) = \max_{|z|=r} |g(z)|, \quad 0 < r < 1.$$

Let S be the class of functions f analytic and univalent in D with

Received May 26, 1988

f(0) = 0, f'(0) = 1. Hayman [7, 8] (see also [5, pp. 157-158]) proved that if  $f \in S$  then the limit

(1) 
$$\alpha = \lim_{r \to 1} r^{-1} (1-r)^2 M_{\infty}(r, f)$$

exists and  $0 \le \alpha \le 1$ ; furthermore,  $\alpha = 1$  if and only if f is a rotation of the Koebe function  $k(z) = z/(1-z)^2$ . If  $\alpha > 0$  then f has a unique direction of maximal growth, i.e. there exists a unique  $\theta_0 \in [0, 2\pi)$  such that  $(1-r)^2 |f(re^{i\theta_0})| \to \alpha$ , as  $r \to 1$ . In fact, we have

$$(2) |f(re^{i\theta_0})| \ge \alpha k(r), 0 < r < 1,$$

(3)  $|f(re^{i\theta_0})| \sim \alpha k(r), \quad \text{as } r \to 1.$ 

The number  $\alpha$  is called the Hayman index of f and we will denote by  $S(\alpha)$  the class of those  $f \in S$  whose Hayman index is  $\alpha$ .

Hayman [7, 8] proved that if  $f(z) = \sum a_n z^n \in S(\alpha)$  then  $|a_n|/n \to \alpha$ . Milin obtained in [12] (see also [5, pp. 162–166]) a simplified proof of this result which is known as Hayman's regularity theorem.

In [1] Baernstein proved that the Koebe function is extremal for a large class of problems about integral means in the class S. He proved that if  $f \in S$  then

(4) 
$$\int_{-\pi}^{\pi} \phi(\pm \log |f(re^{it})|) dt \leq \int_{-\pi}^{\pi} \phi(\pm \log |k(re^{it})|) dt, \quad 0 < r < 1,$$

for all convex increasing functions  $\phi(x)$  defined on **R**. In particular, for  $0 , the Koebe function has the largest <math>L^p$ -means among all the functions in the class S.

Kamotskii studied in [11] the integral means of functions in the classes  $S(\alpha)$ . He proved that if  $f \in S(\alpha)$  then, for p = 1, 2, 3,

(5) 
$$M_p(r, f) \ge M_p(r, \alpha k), \quad 0 < r < 1.$$

The purpose of this paper is studying whether or not Kamotskii's result can be generalized to cover other integral means. First we study the possibility of this generalization in the direction of (4): Let  $f \in S(\alpha)$ , is it true that, for 0 < r < 1,

$$\int_{-\pi}^{\pi} \phi(\log|f(re^{it})|) dt \ge \int_{-\pi}^{\pi} \phi(\log|\alpha k(re^{it})|) dt$$

for all convex increasing functions  $\phi(x)$  defined on **R**? We will show that the

answer is affirmative if we impose some restrictions on f but not in general. Then, in section 3, we will prove (5) for some other values of p.

# 2. Baernstein type inequalities

Associated with each function f in S are its logarithmic coefficients  $\gamma_n$  defined by

(6) 
$$\log \frac{f(z)}{z} = 2 \sum_{n=1}^{\infty} \gamma_n z^n, \quad z \in D.$$

The logarithmic coefficients of the Koebe function are  $y_n = 1/n$ . We prove

**THEOREM** 1. Let  $0 < \alpha \leq 1$  and  $f \in S(\alpha)$ . If the logarithmic coefficients  $\gamma_n$  of f satisfy  $|\gamma_n| \leq 1/n$  for all n, then

(7) 
$$\int_{-\pi}^{\pi} \phi(\log |f(re^{it})|) dt \ge \int_{-\pi}^{\pi} \phi(\log |\alpha k(re^{it})|) dt, \quad 0 < r < 1,$$

for all convex increasing functions  $\phi(x)$  defined on **R**.

**PROOF.** We may assume without loss of generality that  $\theta_0 = 0$  is the direction of maximal growth of f. Thus,

(8) 
$$|f(r)| \ge \alpha k(r), \quad 0 < r < 1.$$

Define

(9) 
$$u(z) = \log \left| \frac{\alpha k(z)}{z} \right|, \quad v(z) = \log \left| \frac{f(z)}{z} \right| \quad (z \in D).$$

According to [1, Prop. 3], the inequality (7) will hold provided we can show that

(10) 
$$u^*(z) \leq v^*(z), \quad z \in D^+ = \{z \in D : \operatorname{Im} z > 0\},$$

where, for 0 < r < 1 and  $0 < t < \pi$ ,

(11) 
$$U^*(re^{it}) = \sup_{|E|=2t} \int_E U(re^{is}) ds.$$

Notice that, since  $|k(re^{it})|$  is a symmetric function of t on  $[-\pi, \pi]$ , decreasing on  $[0, \pi]$ ,

(12) 
$$u^{*}(re^{it}) = \int_{-t}^{t} u(re^{is}) ds.$$

Define

(13) 
$$v_*(re^{it}) = \int_{-t}^t v(re^{is}) ds, \quad 0 < r < 1, \quad 0 < t < \pi.$$

Then, since  $v_* \leq v^*$ , (10) will follow from

(14) 
$$u^*(z) \leq v_*(z), \quad z \in D^+.$$

To prove (14) we argue as follows. Define  $V = u^* - v_*$ . Then (12), (13) and the definitions of u and v show that

$$V(re^{it}) = \int_{-t}^{t} \log \left| \frac{\alpha k (re^{is})}{f(re^{is})} \right| ds$$
  
= Re  $\int_{-t}^{t} \left( \log \alpha + 2 \sum_{k=1}^{\infty} \left( \frac{1}{k} - \gamma_k \right) r^k e^{iks} \right) ds$   
=  $2t \log \alpha + 4 \sum_{k=1}^{\infty} \left( \frac{1}{k} - \operatorname{Re} \gamma_k \right) r^k \frac{\sin kt}{k}.$ 

Thus, (14) is equivalent to

(15) 
$$\sum_{k=1}^{\infty} \left(\frac{1}{k} - \operatorname{Re} \gamma_k\right) \frac{r^k \sin kt}{k} \leq \left(\frac{1}{2} \log \frac{1}{\alpha}\right) t, \quad 0 < r < 1, \quad 0 < t < \pi.$$

But, since  $|\gamma_k| \leq 1/k$  and  $|\sin x| \leq |x|$ , (8) implies

$$\sum_{k=1}^{\infty} \left( \frac{1}{k} - \operatorname{Re} \gamma_k \right) r^k \frac{\sin kt}{k} \leq \sum_{k=1}^{\infty} \left( \frac{1}{k} - \operatorname{Re} \gamma_k \right) r^k \left| \frac{\sin kt}{k} \right|$$
$$\leq t \sum_{k=1}^{\infty} \left( \frac{1}{k} - \operatorname{Re} \gamma_k \right) r^k$$
$$= \frac{t}{2} \log \left| \frac{k(r)}{f(r)} \right|$$
$$\leq \frac{1}{2} \left( \log \frac{1}{\alpha} \right) t, \quad 0 < r < 1, \quad 0 < t < \pi.$$

This proves (15) and finishes the proof of Theorem 1.

The inequality  $|\gamma_n| \leq 1/n$  (n = 1, 2, 3, ...) is known to be true for starlike functions, however we should remark that, as Eenigenburg and Keogh proved [6, Th. 5], the rotations of the Koebe function are the only starlike functions

with positive Hayman index and, hence, Theorem 1 says nothing for starlike functions.

The inequality  $|\gamma_n| \leq 1/n$  fails in general, even in order of magnitude. In fact, Pommerenke constructed in [14] (see also [15, Th. 5.4 and exer. 3, p. 138] and [5, Th. 8.4]) a bounded function  $f \in S$  with logarithmic coefficients  $\gamma_n \neq O(n^{-0.83})$ .

Next, we shall give for each  $\alpha \in (0, 1)$  a simple explicit function  $f \in S(\alpha)$  for which the conclusion of Theorem 1 does not hold and, consequently, satisfying  $|\gamma_n| > 1/n$  for some n.

For  $\frac{1}{4} < d < 1$ , let  $f_d$  be the unique function in S which maps D onto the whole w-plane slit along an arc on the circle |w| = d placed symmetrically with respect to the negative real axis and the part of the negative real axis from -dto  $-\infty$ . The functions  $f_d$  have been extensively treated in the literature. Netanyahu proved in [13] that  $f_d$  maximizes |f''(0)| in the class  $S_d$  of functions  $f \in S$  whose image contains the disc |w| < d and Jenkins proved in [10] that the length of the set of values on |w| = d not covered by f is maximized by  $f_d$ in the class S. We will show that the conclusion of Theorem 1 does not hold for the functions  $f_d, \frac{1}{4} < d < 1$ .

In order to give an explicit expression for  $f_d$ , it is convenient to define  $\rho$  by

(16) 
$$d = \frac{(\rho+1)^2}{4\rho^2}, \quad \frac{1}{4} < d < 1.$$

Notice that as d increases from  $\frac{1}{4}$  to 1,  $\rho$  decreases from  $\infty$  to 1. Then, given  $\rho > 1$ , the function

$$F(z) = \left(\rho + \frac{1}{\rho} - 2\right) \left(\frac{1+z}{1-z}\right)^2 = \frac{(\rho-1)^2}{\rho} \left(\frac{1+z}{1-z}\right)^2$$

maps D onto  $R_1$ , the whole plane slit along the negative real axis, and  $F(0) = \rho + \rho^{-1} - 2$ . The function

$$G(\xi) = \xi + \frac{1}{\xi} - 2 = \frac{(\xi - 1)^2}{\xi}$$

maps the domain  $R_2$  bounded by  $|\xi| = 1$  together with the portion of the real axis  $-\infty \leq \xi \leq -1$  onto  $R_1$  and  $G(\rho) = \rho + \rho^{-1} - 2$ . Finally, the function

$$H(\xi) = \frac{\rho\xi(\xi-\rho)}{\rho\xi-1}$$

**INTEGRAL MEANS** 

maps  $R_2$  onto a domain  $R_3$  bounded by an arc on  $|w| = \rho$  placed symmetrically with respect to the negative real axis together with the portion  $-\infty \le w \le -\rho$  of the latter and  $H(\rho) = 0$ . Then, the function  $g = H \circ G^{-1} \circ F$  maps D conformally onto  $R_3$  and g(0) = 0. Easy calculations show that  $g'(0) = 4\rho^3/(\rho + 1)^2$  and  $(1 - r)^2 g(r) \sim 4(\rho - 1)^2/\rho$ , as  $r \rightarrow 1$ . Hence

(17) 
$$f_d(z) = \frac{(\rho+1)^2}{4\rho^3}g(z)$$

and the Hayman index  $\alpha_d$  of  $f_d$  is

(18) 
$$\alpha_d = \frac{(\rho - 1)^2 (\rho + 1)^2}{\rho^4} = \left(1 - \frac{1}{\rho^2}\right)^2.$$

Notice that as d increases from  $\frac{1}{4}$  to 1,  $\alpha_d$  decreases from 1 to 0 and, hence, we see that for each  $\alpha \in (0, 1)$  there exists exactly one d such that  $\alpha_d = \alpha$ . Now we can prove

**Theorem 2.** For  $\frac{1}{4} < d < 1$ ,

(19) 
$$\int_{-\pi}^{\pi} \log^{+} |f_{d}(e^{it})/d| dt < \int_{-\pi}^{\pi} \log^{+} |\alpha_{d}k(e^{it})/d| dt.$$

Hence, the conclusion of Theorem 1 does not hold for the functions  $f_d, \frac{1}{4} < d < 1$ .

**PROOF.** Notice that  $|f_d(e^{it})| \ge d$  and, hence,

$$\int_{-\pi}^{\pi} \log^{+} |f_{d}(e^{it})/d| dt = \int_{-\pi}^{\pi} \log |f_{d}(e^{it})/(de^{it})| dt = -2\pi \log d.$$

Now we turn to evaluate the integral on the right-hand side of (19):

$$\int_{-\pi}^{\pi} \log^{+} \left| \frac{\alpha_{d} k(e^{it})}{d} \right| dt = \int_{-\pi}^{\pi} \log^{+} \left| \frac{\alpha_{d}}{4d \sin^{2}(t/2)} \right| dt$$
$$= 4 \int_{0}^{\pi/2} \log^{+} \frac{\alpha_{d}}{4d \sin^{2} t} dt$$
$$= 4 \int_{0}^{\arcsin(\alpha_{d}/4d)^{1/2}} \log \frac{\alpha_{d}}{4d \sin^{2} t} dt$$
$$= 4 \arcsin\left(\frac{\alpha_{d}}{4d}\right)^{1/2} \log \frac{\alpha_{d}}{4d} - 8 \int_{0}^{\arcsin(\alpha_{d}/4d)^{1/2}} \log \sin t \, dt.$$

Now, (16) and (18) show that  $(\alpha_d/4d) = [(\rho - 1)/\rho]^2$  and, hence, using (20) and (16), we see that (19) is equivalent to

(21) 
$$\psi(\rho) > 0, \quad 1 < \rho < \infty,$$

where

(22)  

$$\psi(\rho) = 8 \arcsin \frac{\rho - 1}{\rho} \log \frac{\rho - 1}{\rho} - 8 \int_0^{\arcsin((\rho - 1)/\rho)} \log \sin t \, dt$$

$$+ 4\pi \log \frac{\rho + 1}{2\rho} .$$

To prove (21), observe that

(23) 
$$\psi(1) = 0, \quad \lim_{\rho \to \infty} \psi(\rho) = 0$$

and

(24) 
$$\psi'(\rho) = \frac{8}{\rho(\rho-1)} \left( \arcsin \frac{\rho-1}{\rho} - \frac{\pi \rho - 1}{2 \rho + 1} \right).$$

Now, it is a simple calculus exercise to show that  $\psi'(\rho) = 0$  at most once in  $(1, \infty)$  which, together with (23) and the fact that  $\psi'(\rho) > 0$  if  $\rho$  is sufficiently close to 1, implies (21), finishing the proof of Theorem 2.

# 3. $L^p$ -inequalities

The basic step in the proof of Kamotskii's theorem is the following result proved by Kamotskii [11, p. 213] using the Grunsky inequalities:

Let  $0 < \alpha \leq 1$  and  $f \in S(\alpha)$ . Suppose that  $\theta_0 = 0$  is the direction of maximal growth of f. Then, for all  $z \in D$ ,

$$(25) |f(z) - f(\bar{z})| \ge \alpha |k(z) - k(\bar{z})|$$

and

(26) 
$$|f_2(z) + f_2(\bar{z})|^2 \ge \alpha |k_2(z) + k_2(\bar{z})|^2$$

where  $f_2(z) = f(z^2)^{1/2}$ ,  $k_2(z) = k(z^2)^{1/2}$ .

The inequality (5) follows from (25) for p = 2, 3 and from (26) for p = 1. Using (25), we shall obtain some extensions of Kamotskii's theorem.

**THEOREM 3.** Let  $0 < \alpha \leq 1$ . If  $f \in S(\alpha)$  has real Taylor coefficients then

INTEGRAL MEANS

(27) 
$$M_4(r, f) \ge M_4(r, \alpha k), \quad 0 < r \le 1.$$

To prove Theorem 3 we will need the analogue of (2) for f'.

**PROPOSITION** 1. Let  $0 < \alpha \leq 1$ . If  $f \in S(\alpha)$  and  $\theta_0$  is its direction of maximal growth, then

$$|f'(re^{i\theta_0})| \ge \alpha k'(r), \qquad 0 < r < 1.$$

Proposition 1 is obtained in [4, Cor. 1] as a consequence of Bazilevich's inequality on the closeness between the logarithmic coefficients of f and those of  $z/(1 - e^{-i\theta_0}z)^2$ ,

$$\sum_{k=1}^{\infty} k \left| \gamma_k - \frac{1}{k} e^{-ik\theta_0} \right|^2 \leq \frac{1}{2} \log \frac{1}{\alpha}$$

[2, 3] (see also [5, p. 160]) and it can also be obtained from (25). However, we present here an elementary proof.

**PROOF OF PROPOSITION 1.** We may assume without loss of generality that  $\theta_0 = 0$ . For 0 < r < 1, let

$$f_r(z) = \frac{f\left(\frac{z+r}{1+rz}\right) - f(r)}{(1-r^2)f'(r)} , \qquad z \in D.$$

Then  $f_r \in S$  and, using (3), we see that, as  $\rho \rightarrow 1$ ,

$$(1-\rho)^{2}|f_{r}(\rho)| \sim \frac{(1-\rho)^{2}}{(1-r^{2})|f'(r)|} \left| f\left(\frac{\rho+r}{1+\rho r}\right) \right|$$
  
$$\sim \frac{(1-\rho)^{2}}{(1-r^{2})|f'(r)|} \frac{\alpha}{\left(1-\frac{\rho+r}{1+\rho r}\right)^{2}}$$
  
$$= \frac{\alpha(1+\rho r)^{2}}{(1-r^{2})(1-r)^{2}|f'(r)|}$$
  
$$\sim \frac{\alpha k'(r)}{|f'(r)|}.$$

Hence, the Hayman index  $\alpha(r)$  of  $f_r$  is

$$\alpha(r) = \frac{\alpha k'(r)}{|f'(r)|}$$

which, since  $\alpha(r) \leq 1$ , implies

 $|f'(r)| \ge \alpha k'(r).$ 

**PROOF OF THEOREM 3.** Let  $\theta_0 \in [0, 2\pi)$  be the direction of maximal growth of f. Then Hayman proved [7, p. 277] that

$$e^{-i\theta_0} = \lim_{n \to \infty} \frac{a_{n+1}}{a_n}$$

where  $f(z) = \sum a_n z^n$ . Thus, since the coefficients  $a_n$  are real, we obtain that  $\theta_0$  is either 0 or  $\pi$ . If  $\theta_0 = \pi$  then h(z) = -f(-z) has real coefficients and its direction of maximal growth is 0. Consequently, we may assume without loss of generality that  $\theta_0 = 0$ .

The inequality (27) will follow from

(29) 
$$\alpha^{2} \int_{-\pi}^{\pi} |k(re^{it})|^{4} dt \leq \int_{-\pi}^{\pi} |f(re^{it})|^{2} |k(re^{it})|^{2} dt, \quad 0 < r < 1.$$

Indeed, by Hölder's inequality,

$$\int_{-\pi}^{\pi} |f(re^{it})|^2 |k(re^{it})|^2 dt \leq M_4(r, f)^2 M_4(r, k)^2$$

and, hence, (29) implies

$$\alpha^2 M_4(r,k)^4 \leq M_4(r,f)^2 M_4(r,k)^2, \qquad 0 < r < 1,$$

which is equivalent to (27).

Thus, it only remains to prove (29). It follows from (25) that, setting  $z = re^{it}$ ,

$$\int_{-\pi}^{\pi} \frac{|f(z) - f(\bar{z})|^2}{|1 - z|^4} dt \ge \alpha^2 \int_{-\pi}^{\pi} \frac{|k(z) - k(\bar{z})|^2}{|1 - z|^4} dt$$

or, equivalently,

$$\int_{-\pi}^{\pi} \frac{|f(z)|^2}{|1-z|^4} dt - \alpha^2 \int_{-\pi}^{\pi} \frac{|k(z)|^2}{|1-z|^4} dt \ge \operatorname{Re} \int_{-\pi}^{\pi} \frac{g(z)}{|1-z|^4} dt$$

where

$$g(z) = f(z)\overline{f(\overline{z})} - \alpha^2 k(z)^2.$$

Hence, (29) will hold provided we can prove that

(30) 
$$\operatorname{Re} \int_{-\pi}^{\pi} \frac{g(re^{it})}{|1 - re^{it}|^4} dt \ge 0, \quad 0 < r < 1.$$

Notice that, since f has real coefficients,  $\overline{f(z)} = f(z)$  and therefore

(31) 
$$g(z) = f(z)^2 - \alpha^2 k(z)^2.$$

Define

(32) 
$$F(z) = \frac{zg(z)}{(1-z)^2} = g(z)k(z).$$

We have

$$\int_{-\pi}^{\pi} \frac{g(re^{it})}{|1 - re^{it}|^4} dt = \int_{-\pi}^{\pi} \frac{g(re^{it})r^2 e^{2it}}{(1 - re^{it})^2 (re^{it} - r^2)^2} dt$$
$$= \frac{1}{i} \int_{|z| = r} \frac{zg(z)}{(1 - z)^2 (z - r^2)^2} dz$$
$$= \frac{1}{i} \int_{|z| = r} \frac{F(z)}{(z - r^2)^2} dz$$
$$= 2\pi \operatorname{Res}\left(\frac{F(z)}{(z - r^2)^2}, r^2\right)$$
$$= 2\pi F'(r^2).$$

Notice that (31) and (32) show that

(33) 
$$F' = 2(ff' - \alpha^2 kk')k + (f^2 - \alpha^2 k^2)k'.$$

Now, since f has real coefficients,  $|f'(r^2)| = f'(r^2)$  and  $|f(r^2)| = f(r^2)$  which, together with (2), (28), (33) and the assumption  $\theta_0 = 0$ , implies  $F'(r^2) \ge 0$ . This proves (30) finishing the proof of Theorem 3.

Next we shall prove that the inequality (5) remains true for 2 .

THEOREM 4. Let  $0 < \alpha \leq 1$  and  $f \in S(\alpha)$ , then, for 2 ,

$$M_p(r, f) \ge M_p(r, \alpha k), \qquad 0 < r < 1.$$

Theorem 4 will follow from the following

**PROPOSITION 2.** Let  $0 < \alpha \leq 1$  and  $f \in S(\alpha)$ . Suppose that  $\theta_0 = 0$  is the direction of maximal growth of f. Then

D. GIRELA

(34) 
$$\alpha^2 \int_{-\pi}^{\pi} |k(re^{it})|^{2+q} dt \leq \int_{-\pi}^{\pi} |f(re^{it})|^2 |k(re^{it})|^q dt, \quad 0 < r < 1,$$

for every q with 0 < q < 1.

**PROOF OF PROPOSITION 2.** Arguing as in the proof of Theorem 3 we see that (34) will hold provided we can show that, for 0 < q < 1,

(35) 
$$\int_{-\pi}^{\pi} \frac{g(re^{it})}{|1-re^{it}|^{2q}} dt \ge 0, \quad 0 < r < 1,$$

where

(36) 
$$g(z) = f(z)\overline{f(\overline{z})} - \alpha^2 k(z)^2.$$

Now, it is easy to check that

(37) 
$$\int_{-\pi}^{\pi} \frac{g(re^{it})}{|1-re^{it}|^{2q}} dt = \frac{1}{i} \int_{|z|=r} \frac{g(z)z^{q-1}}{(1-z)^q(z-r^2)^q} dz.$$

In order to compute the integral on the right-hand side of (37), notice that, for  $\delta > 0$  sufficiently small,

$$\int_{C_{\delta}} \frac{g(z)z^{q-1}}{(1-z)^q(z-r^2)^q} dz = 0$$

where  $C_{\delta}$  is the contour of Fig. 1.



Fig. 1.

It is a simple exercise to prove that, for 0 < q < 1,

$$0 = \lim_{\delta \to 0} \frac{1}{i} \int_{C_{\delta}} \frac{g(z)z^{q-1}}{(1-z)^{q}(z-r^{2})^{q}} dz$$
  
=  $\frac{1}{i} \int_{|z|-r} \frac{g(z)z^{q-1}}{(1-z)^{q}(z-r^{2})^{q}} dz - 2\sin(\pi q) \int_{0}^{r^{2}} \frac{g(s)s^{q-1}}{(1-s)^{q}(r^{2}-s)^{q}} ds.$ 

Therefore

(38) 
$$\frac{1}{i} \int_{|z|=r} \frac{g(z)z^{q-1}}{(1-z)^q (z-r^2)^q} dz = 2\sin(\pi q) \int_0^{r^2} \frac{g(s)s^{q-1}}{(1-s)^q (r^2-s)^q} ds$$

Now, (36) and (2) show that if s > 0 then  $g(s) \ge 0$  which, since 0 < q < 1, implies that the right-hand side of (38) is nonnegative. This proves (35) and hence Proposition 2 is proved.

**PROOF OF THEOREM 4.** We may assume without loss of generality that  $\theta_0 = 0$  is the direction of maximal growth of f. Then, if 2 , we have by Proposition 2 and Hölder's inequality

$$\alpha^{2} \int_{-\pi}^{\pi} |k(re^{it})|^{p} dt \leq \int_{-\pi}^{\pi} |f(re^{it})|^{2} |k(re^{it})|^{p-2} dt$$
$$\leq \left( \int_{-\pi}^{\pi} |f(re^{it})|^{p} dt \right)^{2/p} \left( \int_{-\pi}^{\pi} |k(re^{it})|^{p} dt \right)^{(p-2)/p}$$

and hence

$$\alpha^{2} \left( \int_{-\pi}^{\pi} |k(re^{it})|^{p} dt \right)^{2/p} \leq \left( \int_{-\pi}^{\pi} |f(re^{it})|^{p} dt \right)^{2/p}$$

which proves the Theorem.

# 4. Final remarks

(i) First we note that Kamotskii's result for p = 1 can be obtained in an elementary way as a consequence of the following inequality proved by Holland and Twomey in [9, p. 1018]:

If g is analytic in D, then, for 0 ,

(39) 
$$(1-r^2)M_{\infty}(r^2,g) \leq M_p(r,g)^p, \quad 0 < r < 1.$$

Now, if  $f \in S(\alpha)$  set g(z) = f(z)/z. Then  $M_{\infty}(r^2, g) \ge \alpha k(r^2)/r^2$  and (39) with p = 1 shows that

D. GIRELA

$$M_{1}(r,g) \ge (1-r^{2}) \frac{\alpha k(r^{2})}{r^{2}} = \frac{\alpha}{1-r^{2}} = \frac{\alpha}{2\pi} \int_{-\pi}^{\pi} \left| \frac{k(re^{it})}{r} \right| dt$$

which implies  $M_{I}(r, f) \ge M_{I}(r, \alpha k)$ .

This argument can be used for other values of p and also to estimate the integral means of f'. In this way we obtain:

If 
$$f \in S(\alpha)$$
 then, for  $0 < r < 1$ ,

(40) 
$$rM_p(r, f) \ge M_p(r^2, \alpha k), \qquad p > 1;$$

(41) 
$$M_p(r, f') \ge M_p(r^2, \alpha k'), \qquad p \ge 1.$$

(ii) The only place where we used that f had real Taylor coefficients in the proof of Theorem 3 was to prove, with the notation used there, that  $F'(r^2) \ge 0$  which followed from  $g'(s) \ge 0$ , 0 < s < 1. This, and hence also the conclusion of Theorem 3, would be true for general  $f \in S(\alpha)$ , not necessarily with real coefficients, if the inequality (28) could be replaced by

$$\frac{d}{dr}|f(re^{i\theta_0})| \ge \alpha k'(r), \qquad 0 < r < 1,$$

but we do not know whether or not this is true.

(iii) Even though Theorem 2 shows that the conclusion of Theorem 1 does not hold for general  $f \in S(\alpha)$ , the question of whether or not the inequality  $M_p(r, f) \ge M_p(r, \alpha k)$  is true for all p > 0 remains open. We can prove that it is true for small values of p using the elementary fact that if h is analytic in D and |h(z)| > 1 for all  $z \in D$  then, given p > 0, the function  $|h|^p \log |h|$  is subharmonic in D. In a precise way, we have:

Given  $0 < \alpha < 1$  there exists  $p(\alpha) > 0$  such that if  $f \in S(\alpha)$  and 0 then

$$M_p(r,f) \ge M_p(r,\alpha k), \qquad 0 < r < 1.$$

Indeed, let  $0 < \alpha < 1$  and  $f \in S(\alpha)$ . The distortion theorem [15, p. 21] shows that

$$\left|\frac{4f(z)}{\alpha z}\right| > \frac{1}{\alpha} > 1, \quad \left|\frac{4k(z)}{z}\right| > 1, \quad z \in D$$

and therefore, for p > 0, the functions

$$u(z) = \left|\frac{4f(z)}{\alpha z}\right|^{p} \log \left|\frac{4f(z)}{\alpha z}\right|, \quad v(z) = \left|\frac{4k(z)}{z}\right|^{p} \log \left|\frac{4k(z)}{z}\right|$$

are subharmonic in D. For 0 < r < 1, define

$$h_r(p) = \int_{-\pi}^{\pi} \left| \frac{4f(re^{it})}{\alpha r} \right|^p dt - \int_{-\pi}^{\pi} \left| \frac{4k(re^{it})}{r} \right|^p dt, \qquad p > 0.$$

Then

$$\frac{d}{dp}h_r(p)=\int_{-\pi}^{\pi}u(re^{it})dt-\int_{-\pi}^{\pi}v(re^{it})dt.$$

Hence, since  $S \subset H^p$  ( $p < \frac{1}{2}$ ), the subharmonicity of u and v shows that, for 0 ,

(42) 
$$\frac{d}{dp}h_r(p) \ge 2\pi \left(\frac{4}{\alpha}\right)^p \log \frac{4}{\alpha} - \int_{-\pi}^{\pi} |4k(e^{it})|^p \log |4k(e^{it})| dt.$$

Now, as  $p \rightarrow 0$ , the right-hand side of (42) tends to  $2\pi \log(1/\alpha) > 0$ . Hence we deduce that there exists  $p(\alpha) > 0$  such that, for 0 ,

$$\frac{d}{dp}h_r(p)>0, \qquad 0< r<1,$$

which, together with the fact  $h_r(0) = 0$ , implies that, for 0 < r < 1,

 $h_r(p) > 0, \qquad 0$ 

which proves our assertion.

# ACKNOWLEDGEMENT

I wish to thank the referee for his helpful remarks.

### References

1. A. Baernstein, Integral means, univalent functions and circular symmetrization, Acta Math. 133 (1974), 139–169.

2. I. E. Bazilevich, Coefficient dispersion of one-sheeted functions, Am. Math. Soc. Transl. (2) 71 (1968), 168-180.

3. I. E. Bazilevich, On a univalence criterion for regular functions and the dispersion of their coefficients, Math. USSR-Sbornik 3 (1967), 123-137.

4. I. E. Bazilevich, A criterion for univalence of regular functions with a positive Hayman constant, Math. USSR-Sbornik, 44 (1983), 261–268.

5. P. L. Duren, Univalent Functions, Springer-Verlag, New York, 1983.

6. P. J. Eenigenburg and F. R. Keogh, The Hardy class of some univalent functions and their derivatives, Michigan Math. J. 17 (1970), 335-346.

7. W. K. Hayman, The asymptotic behaviour of p-valent functions, Proc. London Math. Soc. 5 (1955), 257-284.

8. W. K. Hayman, Multivalent Functions, Cambridge University Press, 1958.

9. F. Holland and J. B. Twomey, Integral means of functions with positive real part, Can. J. Math. 32 (1980), 1008-1020.

10. J. A. Jenkins, On values omitted by univalent functions, Am. J. Math. 75 (1953), 406-408.

11. V. I. Kamotskii, *Estimate of integral means in the class*  $S(\alpha)$ , Sibirsk, Mat. Z. 21 (1980), 211–215 (in Russian).

12. I. M. Milin, Hayman's regularity theorem for the coefficients of univalent functions, Soviet Math. Dokl. 11 (1970), 724-728.

13. E. Netanyahu, On univalent functions in the unit disc whose image contains a given disc, J. Analyse Math. 23 (1970), 305-322.

14. Ch. Pommerenke, Relations between the coefficients of a univalent function, Invent. Math. 3 (1967), 1-15.

15. Ch. Pommerenke, Univalent Functions, Vandenhoeck and Ruprecht, Göttingen, 1975.